
　
1



　　　　　

■ ■ ■

2



① ストレートパイプ　(LH/RH) ⑨ スタッドボルト  [23.5～27.4N.m(2.4～2.7kgf-m)]

② ガスケット/F ※抜けた場合のみ

③ フランジボルト M10 L=35mm ⑩ 純正ナット  [60.0～66.0N.m(6.1～6.7kgf-m)]

④ フランジナット M10  [34.3～39.2N.m(3.5～4.0kgf-m)] ⑪ O2センサー  [40.0～50.0N.m(4.0～5.7kgf-m)]

⑤ フランジボルト M10 L=20mm

⑥ A/Fセンサ－プラグ　  [40.0～50.0N.m(4.0～5.7kgf-m)]

⑦ 銅ワッシャ

⑧ ガスケット/Ｒ

①②

③

④

⑤⑥

③

③

③

④

④

④

④

⑦

⑧

⑨

⑩

⑪

3



　
　

4



5



① STRAIGHT PIPE　(LH/RH) ⑨ STUD BOLT  [23.5～27.4N.m(2.4～2.7kgf-m)]

② GASKET/F ※Only if it is loose

③ FLANGE BOLT M10 L=35mm ⑩ STOCK NUT  [60.0～66.0N.m(6.1～6.7kgf-m)]

④ FLANGE NUT M10  [34.3～39.2N.m(3.5～4.0kgf-m)] ⑪ O2 SENSOR  [40.0～50.0N.m(4.0～5.7kgf-m)]

⑤ FLANGE BOLT M10 L=20mm

⑥ A/F SENSOR PLUG  [40.0～50.0N.m(4.0～5.7kgf-m)]

⑦ COPPER WASHER

⑧ GASKET/Ｒ

①②

③

④

⑤⑥

③

③

③

④

④

④

④

⑦

⑧

⑨

⑩

⑪

orque specs. of the included components orque specs. of the stock components

6



7



8


